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SN EXNER Y
I ENEE P} HE(FELNAWL/NALEA)

=@t 28X EXl2e (chel: &)
_ _ MEc
SH-EFHHA(FA) - NIRAE - BES Of] AF R loﬂ/lx_FOH Hws2
201 ety 2,000 2,000 0
01 AtSR2t2ldl 2,000 2,000 0
EXNZMERE S A= M 2,000
401 AIEHIZ 20 50,000 200,000 A 150,000
01 Al&H| 50,000 200,000 A 150,000
OISEENNASES EX ZAMAY 50,000
CRHIHESHSEE 244,900 592,900 A 348,000
=2 43,000
Al 201,900
201 Ler243| 161,700 117,700 44,000
= 43,000
Al 118,700
01 AtR22lHl 161,700 117,700 44,000
ME=A SHEE M 4,000
MEAAY SH(22t) S HE 1,000
M=ARRAS &Y 70,0003 x5H »23| 700
CZHYHEHS EE 144,000
= 43,000
Al 101,000
HEOIME MAXNP FHAXZ
1,000,000 *1H *12& 12,000
203 ¥R =&yl 1,000 1,000 0
03 Al F&HRF=EIH| 1,000 1,000 0
MELAALY HRFX 1,000
303 Z&2 2,200 2,200 0
01 ZA&23 2,200 2,200 0
MEAAY AREX 24| 20A 4 2,200
z2==(1) 1,000
2 =(2) 1,200
308 AXIHHMSOIH 80,000 80,000 0
01 AXESMBLEEXS 80,000 80,000 0
CEYLH2SHS EE NH
5,000,000& 169 7 - = 80,000
CRYHUHEHSEHE(NE) 343,000 332,000 11,000
= 43,000
Al 300,000
403 KX M SK=01™ 343,000 332,000 11,000
= 43,000
Al 300,000
01 AUXEHMA=E X 343,000 332,000 11,000
OIS R ZA T ZALEZS(E2YT) A X 43,000
= 43,000
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el 2882 EXl2t (etel: =3
_ _ _ Muo
SN CR(EH) - NRAY - BES 0] &F o e HlE2

SAUANZZAEZAES(E2HE)AEX 300,000

K= THZE AFALS 82,773 0 82,773
= 82,773

308 XXIEHHSOIH 82,773 0 82,773
= 82,773

01 XM EXS 82,773 0 82,773
NEMEAAY =8 82,773
= 82,773

CRHFAI2E AXNEEE A A 8,720 0 8,720
403 AXIHHS K201 8,720 0 8,720
02 SII2SHHSCHA AL I 8,720 0 8,720

CREFAINE2E AXNFEES HHAS (2 HIA

XA 8,720
ANEISHe HENMSAAH 2= 1,511,643 1,804,923 N293,280
dUXE 1 §2ME CXES & FAUES
golEE SHEX 1 29.6 %

EXNEEANAEY 2te] 480,993 284,273 196,720
201 LEH2HH| 80,993 78,148 2,845
02 =223l 80,993 78,148 2,845

EXNEHEAAE RANE= 328,789,610 8% 26,304
SEZUT MAEH REs
98,838,000 *8% 7,908
SHSAEE S MHA |RAE=S
549,199,050 & *8% 43,936
HolEE FESSE UH=Y Kbl 2,845
401 Al&HI YL S OHYI 400,000 200,000 200,000
01 Al&H| 400,000 200,000 200,000
NEEZ M MASDBF = 400,000

SEAESE & SABEF 606,650 606,650 0
201 LEH2HH| 6,650 6,650 0
01 AtER22/Hl 6,650 6,650 0

SETH 2HADS 2,400
st=&dl 2el=Albl 2,500
EotRId =% 250,000& 7H =13 1,750
401 Al&HI LSO 600,000 600,000 0
01 Al&H| 600,000 600,000 0
SZAESH 150,000, 000& »22] 300,000
SIS AEDBR = 300,000

1/1,000=X X8 =& - M 424,000 914,000 A490,000

403 XXM SA=01H 424,000 914,000 A490,000
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Sl AIRIZAC HEHMIAAY RE (S5 &2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ol AF o8 Hws2

02 BII2HS 0T HCH 8 ARt bl 424,000 914,000 430,000
1/1,004XNEE 3 - M= (I NFX ) 424,000

HZS YA (EXNZ2 D) (JIEHIIEH 83,665 83,665 0

o= 2 bl 83,665 83,665 0

2 83,665 83,665 0

201 Yer2 Yyl 24,200 24,200 0

01 A2l 24,200 24,200 0
SN2Y =L 14,500
s | 9,700

202 048] 55,265 55,265 0

01 2Uioib| 55,265 55, 265 0
2 EZ 0| 42,000
29 EF0IH| 13,265

203 HRFAY| 4,200 4,200 0

04 EN2YARETY] 4,200 4,200 0
SNEYYR R 350,0002 128 4,200




